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1. Please choose two theories from the following four theories and describe their:
(1) basic assumptions; (2) intervention or treatment; (3) principal applications in
social work practice; (4) empirical base; and (5) your personal critique of these
two theories. (50 points)

A. Crisis theory and social work practice
B. Feminist theory and social work practice
C. Psychosocial theory and social work treatment

D. Empowerment approach to social work practice

2. Please use one social policy initiative which you are interested in and write a
policy analysis that should include the following information (50 points) :

(1) The historical roots and compromises that are contained in this policy (i.e., the
assumptions about this particular social issue or social problem and past
policies embedded in the policy). ‘

(2) The social/community concerns about the social issue or problem and the
main controversy surrounding the initiative.

(3) The characteristics of the population to which it is targeted.

(4) Process and outcomes are two primary approaches to evaluation. Use your
theoretical knowledge to evaluate the initiative.
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